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[ 13. PERIMETER

N—r/

Perimeter = 2b + 2h
Perimeter = 2(b+h)

b Syllabus -
g Vocabulary
h h , .
g Perimeter of square, rectangle and triangle
c? Word Problem
b c? Excercise
i r=b+b+h+
Penm\?ffﬂ simgify..z ffl i @ Problems for practice

. VOCABULARY :- 19) writing the formula - féT & ®iRfeln - I
1) Perimeter- Rdfier - aRf. farfzor.
2) tofind out- ¢ wIES amse - e, ened Few. | 20) substituting values - Ay wege -
3) triangle - et - B, ICaGiCiRISEICEE iU
4) rectangle - YFT ~ I, 21) adding - 3ffST - 99T o, Ao,
5) line segments - oT$H WY, — TGS, 22) perimeter of field - afieR it hies - dardh
6) sum of lengths - T 3iih eiveRy - efiefie s, afRferet.
7) perimeter of rectangle - WRieR 31Tk YacTa | 23) “multiplying - AEEITIET ~ TOMBR FHRol.
~ amard uRf. 24) rectangular garden - YFERIeR ST — 3TIdTgelt
8) perimeter of square - URHIER T TFAIR - ST,
ERGICIREINGR 25) fencing wire - B=ART aR—R - PUUITET dR.
9) perimeter of triangle - 9vHier &fs rer - | 26) number of rounds - FER 3TTh IS — IFD
Brapromet gfRferct. EEC
10) formulas - BRGNS - 3. 27) rectangular canopy - YFTgER HAIE -
11) for finding out - R FEST MHe - MeH TG B,
HIGUITATS!. 28) to decorate - g PR - Famfia awon.
12) length and breadth - @21 3is g - &t g | 29) canopy - dHIU- B
], 30) wooden strips - g7 ¥Ioq - drhs! =iy,
13) sidesof triangle - ged 31t ¢t — B | 31)  window frame - i€ v - Rasdhih dtac.
ELS
14) length of rectangle - @ aif® YacTer -
AT Tl
15) triangular plot - $RIeR talie — PAatumgsdt ST,
16) length of wire - @=er 3ffs IR — ARG .
17) round of fence - =58 31Th &7 - FUUITA TG,
18) reasoning - ReAfHT - Tebererel!, foaR.
=n
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T Pointsto Remember :
Revision:
The perimeter of afigure that is bound on
all sides by line segmentsisthe sum of the
lengths of those line segmentsisthe sum of
the lengths of those line segments or sides.
1) Rectangle -

h h

b

Perimeter of arectangle=2xlength +2x breadth

2) Square-
A 5 B
5 5
D 5 c

Perimeter of square=4x side
3) Triangle-

If we take letters a, b, c for the sides of a
triangle

Perimeter of atriangle=Sum of all sidesof tetriangle
Perimeter of atriangle=a+ b+ ¢

—

>  Examples-
1) Ifthelength of arectangleis8cm andits
breadth 5 cm, then find its per miter.
Ans. Given - length=8cm,
breadth =5 cm
Perimeter of arectangle= 2 x length + 2 x breadth
=2Xx8+2X5
= 16+ 10
=26cm
2) Find the perimeter of a square whose
sideif 3.2 m.
Ans. Given - sideof square=3.2m
Find out - Perimeter of square
Perimeter of square =4 x side
=4x3.2
=128 m

EXCERCISE - 39

Q.1 Given below arethe length and breadth
of some rectangles. Find their perim-
eters.

1) 9cm,6cm

Ans. Given - length - 9 cm, breadth - 6 cm
Find out - Perimeter of rectangle
Perimeter of arectangle=2x length + 2 x breadth

=2x9+2x6
=18+12
= 30cm

2) 52m,4m

Ans. Given - length -5.2 cm, breadth -4 cm
Find out - Perimeter of rectangle
Perimeter of arectangle= 2 x length + 2 x breadth

=2x52+2x4
=104+8
= 184 m

3) 75cm,3.2cm
Ans. Given - length -7.5 cm, breadth - 3.2 cm
Find out - Perimeter of rectangle

—
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Perimeter of arectangle= 2 x length + 2 x breadth
=2x75+2x32
=15+6.4
= 194 cm

Q.2 Findtheperimeter of asquarewhoseside

IS12 cm.

Ans. Given - Side of square=12cm
Find out - Perimeter of asquare
Perimeter of asquare= 4 x side
= 4x12
= 48cm

[ . Perimeter of squareis48 cm]

Q.3 Find the perimeter of a triangle whose
sidesare6cm, 9cm and 5cm.

Ans. Given - Sidesof thetrianglea=6cm,b=9
cm,.c=5cm.

Find out - Perimeter of triangle ?

Perimeter of atriangle= Sumof all sides

= a+b+c
= 6+9+5
= 20cm
[  Perimeter of atriangleis 20 cm]
Q.4 Find the perimeter of triangle whose
sidesare4.8m, 10.2m, and 5.3 m.
Ans.Given - Sides of thetrianglea=4.8m, b=

10.2 m,c=5.3m.

Find out - Perimeter of triangle ?

Perimeter of atriangle= Sum of all sides

a+b+c
48+10.2+53
20.3m

[ Perimeter of atriangleis20.3 m]

WORD PROBLEMS

1) Readtheproblemscarefully.

2) Findout - what isgiven and what iswe have
to find out.

3) Wiriteaccurateformula.

4) Caculatewhat you haveto find with proper
formula

5)  Write proper units.

1)

Ans

2)

ANs

3)

Example-

A triangular plot of land has sides of 65
m, 60 m, 32 m. It isto be fenced with
four rounds of wire. What is the total
length of the wire required for the pur-
pose ?

Given -

Sides of the plot a= 65 m, b = 60 m and
c=32m.

Find out -

Thetotal length of thewirerequired.
Perimeter of triangle = Sumof all sides

= a+b+c
= 65+60+ 32
= 157m
For oneround of thefence, length of wire
require =157 m
For four rounds of thefence, length of wire
= 4 X perimeter
= 4x57
= 628m
[ 628 m of wire will be required for
thefence]

Meenu runs8lapsaround asqurewhose
sideis 80 m.
How many metresdoessherun every day?
Given -
Side of the squarefield = 80 m, Number of
laps=8
Find out - How many metres does Meenu
run?
Perimeter of square = 4 x side

= 4x80

= 320m

Meenu runs 320 min onelap.

In 8 laps, Meenu runs 320 x 8 = 2560 m
[ Meenuruns2560 m every day]
A rectangular garden plot whose length
IS 17 m and breadth is 10 m is to be
fenced. The cost of the fencing wire is
Rs. 3.25per metre. If thefenceistohave
three rounds of the wire, how much will
be the cost of thetotal length of thewire

required.
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Ans Given -

Length of therectangle= 17 m
Breadth of the recdtangle=10m
Number of rounds=3
Cost of 1 mof wire=Rs. 3.25
Find out -
Total cost of wire.
Perimeter of the garden

= 2xLength+2 x Breadth

= 2x17+2x10

34+ 20
= 54m
Length of 3 rounds of wire

= 3 X perimeter

= 3x54

= 162m
Total cost of wire = 162x 3.25
Rs. 526.50
[ Total cost of wireisRs. 526.50 ]

EXCERCISE - 40

1) Thelength of rectangular canopy is15m
and itsbreadth is10 m. What length of
trimming will be required to decorate
the cannopy along its edges ?

Ans Given -

length -15 cm, breadth 10 cm

Find out -

Perimeter of rectangle

Perimeter of arectangle= 2 x length + 2 x breadth

2)

ANs

3)

ANs

4)

ANs

A 1.5 m square window is to be fitted
with anet on wooden stripsnailed tothe
window frame. What isthetotal length
of wooden stripsrequired ?
Given -
Side of the squarewindow = 1.5m,
Find out -
Total length of thewooden stripsrequired ?
Perimeter of square = 4 x side
4x15

= 6.0m
[ Total length of the wooden strips
required =6m|

Every moring satbir takesawalk around
arectangular garden whichis320m long
and 210 m broad. What is the distance
hewalksevery day in oneround ?
Given -
length - 320 m, breadth - 210 m
Find out -
Perimeter of rectangle
Perimeter of arectangle= 2 x length + 2 x breadth
=2x320+2x210
=640 + 420
=1060 m
[ Satbir walks 1060 m daily ]

What will be the cost of wire required
for fencingatriangular plot of land with
sides30 m, 20 m and 25 m with 4 rounds
of wirewhich costs Rs. 2.50 per metre ?
Given -

Sides of atriangle = a = 30m, b = 20m,
c=25m

=2x15+2x10 Perimeter =  Sumof all sides
=30+20 = a+b+c
= 50cm = 30+20+25
[ 50 m of trimming will berequired to = //m
decor ate the canopy along its edges | Oneround = mm
1]
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4 rounds = 75x4
= 300m
Costof 1m = Rs. 250
Costof 300m = 2.50x 300
= Rs. 750.00

5) If aborder isto be attached to a mat of
length 5m 20 cm and breadth 3m 30cm.
What is the length of the border re-
quired?

Ans Given -
length -5 m 20cm,breadth 3 m30 cm
Find out -

Perimeter of rectangle

Perimeter of arectangle= 2 x length + 2 x breadth
=2x5.20+2x3.30
= 10.40 + 6.60
=1/m

[ Lengthof theborder requiredis17m]

Finding thelength of a side when perim-
eter isgiven -

>  Example-

1) Theperimeter of asquareis48cm. Find
the length of its side.

Ans. Given -

Perimeter of aside= 48cm

Find out -

Length of sides.

Perimeter of square = 4xside
48 = 4xdde

But,4x12 = 48

12 = side

[ Sideof thesquareis12cm |

2) Perimeter of arectangleis36 cm and its

Perimeter of arectangle= 2 x length + 2 x breadth

36 = 2x 10+ 2 x breadth
36 = 20+ 2 x breadth
36-20 = 2X breadth
16 = 2 X breadth
16 =2x8
8cm = breadth

[ Thebreadth of therectangleis8cm]
EXCERCISE - 41

Q.1 The perimeter of atriangleis 50 cm. If
two of itssidesare 15 cm and 20 cm long,
find the length of its sides.

Ans Given -

Perimeter of triangle = 50 cm,
Sidesof triangle - a=15cm, b=20cm,

Find out -
c="?
Perimeter of triangle = Sum of al sides
= at+b+c
50= 15+20+c
50= 35+c
50-35= ¢
15= c

[ Length of thethird sideis15cm |

Q.2 Iftheperimeter of asquareis80cm,find
the length of its sides.

Ans. Given - perimeter of asquare =80 cm
Find out - Length of square ?

length 10 cm. Find its breadth. Perimeter of square = 4xside
Ans Given - 80 = 4xside
length - 10cm,Perimeter = 36 cm But,80 = 4x20
Find out - sde = 20cm
breadith [ Length of squareis 20 cm]
=
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Q.3

ANs

Q.4

ANns

Q.5

ANs

Theperimeter of arectangleis62 m and
itsbreadth is7 m. Find itslength.
Given -

perimeter of a rectangle
breadth=7m

Find out -

Length of arectangle?
Perimeter of rectangle =2 x length + 2 x breadth

62 m,

62 = 2xlength+2x7
62 = 2xlength+14
62-14 = 2xlength
48 = 2xlength
But,48 =2x24
length = 24 cm

[ Length of reactangleis24 cm |

Theperimeter of atriangleis55cm. One
of itssidesis15cm. If theother twosides
areequal, find their length.
Given -

perimeter of a triangle
oneside=a=15cm

Find out -

two sidesof triangleare of equal length i.e.
b="?,b="?

55 cm,

Perimeter of atriangle = Sumof al sides
= at+b+b
55 =15+2Db
55-15 = 2b
40 =2b
but,30 = 2x20

side=20cm
[ Sidesof triangleis 20cm each]

The perimeter of a rectangular pool is
100 m and its length is 30 m. Find its
breadth.

Given -

Perimeter of a rectangular pool = 100m,
length=30m

—

Q.6

ANs

Q.7

ANs

—

Find out -
length
Perimeter of arectangle= 2 x length + 2 x breadth
100 = 2x30+ 2x breadth
100 = 60+ 2 X breadth
100- 60 = 2x breadth
40 = 2Xxbreadth
40 =2x20
20cm = breadth

[ Thebreadth of therectangleis20 cm]

If the perimeter of a square room is 16
m, what isthelength of each of itssides?
Given -
Perimeter of asquare=16m
Find out -
length="?
Perimeter of asquare =4 x side
16 =4 x side
But, 16 =4x4
Length=4m
[ Length of squareis4m|

A wireisbent into a rectangle of length
50 cm and breadth 30 cm. If thewire
wer e straightened them bend into a
square, how many centimetres would
each of itssides measure ?
Given -
Length =50 cm, Breadth =30 cm,
Find out -
Side of square ?
Perimeter = 2 x length + 2 x breadth

=2x50+2x30

=100+ 60

=160 cm
Perimeter of rectangle = Perimeter of square

160 =4 x side
But, 160 =4 x 40
Side=40cm

[ Each sideof squareis40cm |
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PROBLEMSFOR PRACTICE | Q.10 Every morning Milkhasingh takes a walk

around arectangular garden whichis400m

1) Given below are the length and breadth of long and 250 m broad, what is the distance
some rectangles, find their perimeter. hewalksevery day intwo rounds?
1) 10cm, 6 cm % % % k%

2) 6.8cm,3.2cm
3) 17m,8m
4) 15cm, 12cm

Q.2 Findthe perimeter of asquare whose sides
IS
1) 15cm
2) 10cm
3) 6.5cm
4) 8cm

Q.3 Findtheperimeter of atrianglewhose sides
are
1) 8cm, 10 cm, 15¢cm
2) 3cm, 5¢cm, 8cm
3)7.5cm,13cm, 7.5cm
4) 4.8m, 3.2m, 5m

Q.4 What will be cost of wirerequired for fenc-
ing atriangular plot of land with sideswith
sides 35m, 30 m and 25 m with five rounds
of wirewhich costs Rs. 5.25 per metre ?

Q.5 Raesh runs 6 laps around a square whose
sideis 85 m. How many metres does she
runevery day ?

Q.6 If the perimeter of a squareis 1 m 20 cm,
find thelength of itssides

Q.7 The perimeter of rectangleis 84 m and its
breadthis17 m. Finditslength.

Q.8 If aborderisto beattached to asari of length
6 m 30 cm and breadth 1 m 20 cm, what is
the length of the border required ?

Q.9 What will be cost of wirerequiredfor fenc-
ing atriangular plot of land with sides 35m,
30mand 25mwith fiveroundsof wirewhich
costs Rs. 5.25 per metre

e
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